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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1
601840 201460 20(335
2.
3.
4,
5.
5) 6)
6.
50138 601433 301870
7.
8.
9.
10.
8) 9)
11.
30(720 101520 701321
12.
11) 12)
301371 60|752 10|580
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Vertical Division

Name:

Answer Key

Solve each problem. Answers
1 14 2) 23 3) 16r15 14
60840 20[460 20[335 "
0 0 0 2 23
84 46 33
60 40 20 s _ 16115
240 60 135 . 538
240 60 120
0 0 15 5 7r13
4) 2138 5) 7r13 6) 29 A 29
50[138 60[433 30[870
0 0 0 ; 24
13 43 87
0 0 60 8 52
138 433 270 X 44l
100 420 270
38 13 0 0 12r11
7) 24 8) 52 9) 4r41
30(720 10520 70321 w22
0 0 0 12, 58
72 52 32
60 50 0
120 20 321
120 20 280
0 0 41
10) 12r11 11) 12r32 12) 58
30[371 60752 10580
0 0 0
37 75 58
30 60 50
71 152 80
60 120 80
11 32 0
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Vertical Division

Name:

Solve each problem. Answers
4 r41 2 r38 24
14 52 16 r15 1.
23 7rl3 29
1) 2) 3) :
60840 201460 201335 3
4,
5.
6.
7.
8.
4) 5) 6)
50|138 60433 301870 .
7) 8) 9)
30|720 10/520 701321
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
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